RED TIGER | C}O[O}2E &

o|O0|2}0| E

« CHO|OI2C Q=L AlEg T30 =3t n Al2| S SatiLich
« B2 ATOR AC}2| M3 AtSto| RX|E|H 7t [0St JHsEL|CH
e 715 0= ALCt2] F

o O
atzho| O|2] X T HEfE LE = UA sHEL|C

02 T.

2] x i 5x3

=d| 2fel 25

Z|CH A2 24 473x

HEM 5/5(&3)
CIO|Ot=E QFQ == 21) 3 40 SESHH, A2 S CiHsH= 22 22 AICI2|of| 2217} S X|2 ol dl= 5/5 (E3)
MES O =2 X2 A2Z 02 0|=8ts o] £28 FLICH 2 A2 3038 ATl 7|2 K| x e
CIO|OF2E QFUC = A T3|0| = ALCI2|Q| BHAIZ *HA| EIL|CH CHO|OF2E QFUE 2 37| 2 =8+ B €/£/50.10
[l |2 S2f2 4 QIOM e SILIZ AR S IOl SIS X2 A2S O 2 X2 A2 2 Hi&
&= Q1o 37| S2|& S0 HORULICHL 28 AR DE Af2| T A5s 2Hs) Mef2 QX6 ol 8= €/8/3 20

2f|0|= V]2 [ BO| MSLILE 7|5 0iE &0t Atlte| T ofgs AP0 M2 dEi=
4(CHOJOF=E 2PUE T12{0|E AfCtE|, R&2 AT, 7S F0f)

CIO|OF2E Q0l|M AICIZ|E Q2T HIRO|= £2|2 BA|SH ZH|Z HM| Q) Tt ol RTP M 90.78%, 92.73%, 94.70%, 95.69%, 95.70%
It Q= RTP SM 90.06%, 90.75%, 92.74%



RED TIGER | C}O[O}2E &

Clojoj2C ofUE 5 A= 80| = At}

A ID X RTP

CIO|OF=E AUEE E 2,340 S&SIH E& X[& A= NS o= g2=0(=E
AFCHE|0f] 7Bt |t O] A2 303 ATl 7|2 T Xl AehsS XXt
FtRE{7F Lot 0f ASLICH CHO[ORE U =Tt 2 & H ACH2| Q| THA| 7}
MR D 2 X g ME0| 2 X2 MEZ YI8|0|=ELICH AICF2]2] 2} 2|2 3 OA3IE + DHFY
CHAZ 2 HE0] QIO 7HE W2 X8 ME0M 71 52 X2 =22 THE/LIC — = =
PI20|E= &2 2telo] ALtz 7| Mol HEEILICH 7|7t Y mf TId 40|
x7|2te| D HEe el MEfE SofZLCt,
oz Ag AL ID H| 0 OSSAHIY /4 OSSID RTP
219| OFF ROfIL} 371 O| &S R2 AT AFHEE HYA|F|H 22 AXIO|
E2|HEIL|C} 3, 4,5 AIHE{E LA F|H 2+2-9 12, 20%|2] 22 ALIQ| DiamondsUp Mok gl= RTP M diamondsup diamondsup000000 90.78%, 92.73%, 94.70%, 95.69%, 95.70%
O{EILICE 7|5 2 & 2=0F AE{E 9,12, 209]9] X7 ALIS CHA] EE|AHY
Sixtch T N = = DiamondsUp MIE Q= RTP 4 diamondsup diamondsup000000 90.06%, 90.75%, 92.74%
B2 ALY 5 DE M= HO80|E= 2NotE MeiZ2 X[ ELICH O2|1
digot Z= CHO|0F=E P EE= 7|2 Al OrEVK| = o & Y 28[0|E AtCiE| 2| o 7|02 % 9% 30 4% 506 6O
X% AES 72 0[0fLIC,, PE AHO| B2 2@, ACizle] BE X Mg Rt LB S O
712 AL E CHA| O| M ELICE
7 = u [ )
ki Red Tiger Mzt A 7Y

124X S5 28 228 AT AIHE|JL 37 O] & LIEtLE= 2k 20| T=s 24 DE Red Tiger 224/ CI0JOKZE 2/F Red Tiger MBS FBI31AL} TBIBLY Q11 FESt 2+ QL) MTt0] TBHE 7/ H/2/S HSBH A,

e By e b da Mo pE i g ko 5t 7|01F2 BN AMHOF HLIS HHELI HE RTPE P2 2 QELICH 0E 50/ RTPI0.06%2 SIZE T QU= 712 H2/0) 43t 7/01F 1%

MEE| 0 AFCE2| 2] 2HH Y g|glo] o|O] AHRIH QO 27He| x| X X2 A=0 5 % 0/ 71 &) /) T} = o 1 0r 0l ) ‘ -

2t2E 2t JA| S| EL|C
2. J3o|x B8 ALl 2= ALl AFHE{Z} 304 Of & LIEfLH= 240k 12082 TMHES

A1 HiIHA 20| Y&SH= 20| EEELICE O] 7|52 FoisHHE x| Al

I 2ol ofo| X ™ JA2M 74| 2[4 X|=

AENZF M & E| D AtCRE| ) 3 ol
Al=20| J2fo|ZZ chH|El M2 A AlEHZ Mete|L|c MAHE A el MEfs
TOiS 2t E otm SA| 2= ) MH I=20OM I CleaCc. of 7
3.QE|HE 2 F AN 22 AL AJHE{ T} 37H O|AF LIEFL}= S| REZH B OERE: 0]
20 HiIA 2t2E0) QArsH= Z10] EXFE[LICE 0] 7|58 oS
AENZF &R 1 AFCHE| Q] 44 WY 2| 210] 0]0] AR QU 47H2]
AME0| HAUZOZ M|l M2 AH el AEH2 MSHEIL|CH MHEE A|Q AEj=
TOiS 2HRE otE SA| 2=t

- 4

4. Hf B8 ALl 25 AT AINE T 37 Of A LIEFLY
O

rr

747t 800BHS| THES 2D
B A B2 Eof @iEBte 200] BHEILICE 0 7152 Pofstel S A2
T D ARCF2| 9] SH 2 o] ofo] M lom 5ol A X Aol Bt
NI El MEL AR NEfE MEELIC MEE A Mejs Tofst et

= ZRAELIC,

|

olr

=


https://clientarea.evolution.com/red-tiger/games/diamonds-up

